BERPTR /N E RS
SM75E4H268  (£) (f&)

ERE H \EFHE (F) (%5 () | A&
AR X 118 b4 800
A= kg 216 108 600
*= kg - 3 -
1D F kg 216 194 10

= kg 86 b4 1,000
FNY kg 97 32 600
[Z 2 NAE ES - - -
INFEF kg 648 216 20
I=E kg h/6 - 30
—Z kg 594 324 200
H 77— 14 - - -
L %X kg 81 b 1,000
20 kg 162 6h h19
B kg 302 - h0
B 1 432 - -
7+ X kg 33h 227 17
;A kg 36h 130 499
E—v> kg 432 194 100
> AT kg - - —
ISE = - - -
A(=t3-2 X - - -
77=Z i - - -
127 kg - - -
XTI >R kg - - -
NN kg - - -
H#Z kg - - -
& in= kg 475 297 300
Z2F kg - - -
b4 kg 243 162 1,000
LoF LD kg - — -
ES3 kg : - -
FHE kg 1, 080 432 9
el x= - - -
nEE3 ES - . -
A 3 = = -
Fa kg - - -
CAZ 3 x " " -
EF kg 313 238 /8
A \ Kg - — —
#1E (D88) kg - ~ -
meE (0 317 AtF ) AL 540 3/8 h0
Hig (5 L) kg 540 410 110

=R kg - - -
EBAT Ag - - -
3 kg = - -
B2/ 2/0g 280 23/ 166
HALZ. kg - - =
N7 kg - - -
EADA kg - - -
F—/JLX X O kg — — —
FOTXX O Kg - - —
TP NIX O kg = - -
IN—Ah T X O Kg - - -
JETE ES ~ ~ -




